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J— AW (O pgmp rwmEg| KR B B gk &
Ty oRoE (R O | W) walan | mA|sA| (mm)
TR 26 15.2 38.3 4.2 72.3 2.5 233 90 38 4 1,164.5
27 15.8 37.9 2.7 75. 4 2.3 198 79 85 3 995. 0
28 15.7 36.8 =5.2 7.4 2.3 176 166 22 2 901.0
29 15.1 36.6 =5.2 75.1 2.4 215 116 33 1 1,038.0
30 16. 2 38.3 —5.4 76. 1 2.2 220 111 30 4 825. 5
Fpk 30. 1 .5 16. 1 —5.4 63.0 2.5 26 4 - 1 9.0
2 4.4 15.1 3.5 62. 4 2.3 21 5 - 2 10.0
3 10.6 25.0 0.4 69.0 2.4 21 5 4 1 118.0
4 16.1 30.1 3.5 69.7 2.6 20 8 2 - 39.0
5 19.5 31. 4 8.2 75.2 2.3 20 7 4 - 91.0
6 22.7 34.8 14.5 83.1 2.2 17 11 2 - 96.0
7 28. 4 38.2 18.7 82.6 2.3 18 9 4 - 74.0
8 27.8 38.3 17.0 83.2 2.4 19 9 3 - 100. 0
9 22.3 33.3 12.1 90.9 1.8 5 16 9 - 223.0
10 18.4 32.6 9.9 84. 2 1.9 18 13 - - 3L.0
11 13.1 23.4 .4 78.9 1.7 16 13 1 - 18.0
12 1.2 19.9 2.2 71.2 2.5 19 11 1 - 16. 5
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PRk 26 6, 749 1,752 1,550 1, 497 4 27 17 326 1,576
27 6, 744 1,748 1,542 1, 507 4 26 17 327 1,573
28 6, 744 1,746 1,534 1,512 4 26 16 329 1,572
29 6, 744 1,742 1,527 1,522 4 26 17 330 1,572
30 6, 744 1,741 1,522 1,528 4 26 18 333 1,572
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m ¥ = T H 0.04 T HH 2.75 bl R 0.75
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